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Solving Equations
Applications

1. Atthe Blue Moon Entertainment Park there 3. In Collin County, there is a $40 base charge fora

is a $35 entry fee (includes free drinks and
three rides). There is a $5 charge for every‘
additional ride. Pauline goes to the park and
decides to go on more than the three free
rides. If she paid 575 for the ticket, how
many rides did she go in all?
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. A common heuristic for calculating the
temperature in Fa Fahrenheit is to count the

mmtjte ivide that numb€r b _@nd then
“Tadd 40 to the result. According to this, if C
represents the number of chirps per
minute, what is the temperature in degrees

Fahrenheit F, in terms of c7
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speeding ticket. For ever{ mile per hioul per holpthe driver -
travels above the speed limit there is an additional
56 charge. If the speed limit is 30 miles per hour and
David was charged $130 for a speeding ticket, how
fast, in miles per hour, was David driving? By i~
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4. Coach Underwood wants to purchase football t-
shirts for his team. The printing company charges
S400 dollars for the ficst 40 t-shirts. The charge for
additional shirts is eight times the difference
between@e numbe[gf shirts and 40 Mrlte an
equation that Coach Underwood can use to
determine t, the number of shirts he can buy if he

spends cdollars. ¢t: aps & = ST
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5. Kathy rented a moving truck from Best
Rentals. The total rental cost included a
one-time fee of §55 and $1.20 for each mile
driven.

a. Write an equation to represent t, the total
cost of renting the truck that was driven for
m miles.

T=55+ [.290m

b. How many miles did Kathy drive if charge
was 53377

S & 55+l zom

8. What value of x satisfies this equation?

| —4(x—-3)=-6x-6
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6. The speed of sound in air, 5, in meters per P'_t__%i___i%_.}(;—w——w——%mmw
second, can be modeled using the equation %}(\ = ”'jgé
S()=331.3+0.61t where t is the temperature in ‘ ' : S
degrees Celsius. According to the model, for what )_/;Z = —C] - C) < o |
value of t in Celsius is the speed of sound 352.65 : \\417 S -
meters per second? \?‘ 90“(\"@
_ ] Ul A= 9. The length of the base of an equni{ral triangle is
5 C—t\ = 33 [.. ’f’ O. i 8 cenhm/e;ers Tthan threg times a number, n. If
LI t the gérimeter is 75 centimeters, find the value of the
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